-CO,/ Wh)

-CO,/ Wh)
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MJ C/G %t-C0,

M/t M/t 0 0.0245 0

M/t MI/t 0 0.0247 0

MJ/t M/t 0 0.0255 0

M/t M/t 0 0.0294 0

M/t MI/t 0 0.0254 0

MJ/t M/t 0 0.0209 0

M/t M/t 0 0.0208 0

K M/ MI/ K 0 0.0184 0
K M/ MI/ K 0 0.0187 0
K M3/ M/ K 0 0.0183 0
K M/ MI/ K 0 0.0182 0
K M/ MI/ K 0 0.0183 0
K M3/ MI/ K 0 0.0185 0
K M/ MI/ K 0 0.0187 0
K M/ MI/ K 0 0.0189 0
K M3/ MI/ K 0 0.0195 0
M/t MI/t 0 0.0163 0

Nm? M/ My/ i 0 0.0142 0
M/t M/t 0 0.0135 0

Nm? M/ M3/ m 0 0.0139 0
Nm? MJ/ M/ m 0 0.0110 0
Nm® M/ MI/ m 0 0.0266 0
Nm? M/ M3/ m 0 0.0384 0
Nm? M/ My/ i 0 0.0138 0
0 0




MJ

t-C/GJ

3t-co,

0.0245

0.0247

0.0255

0.0294

0.0254

0.0209

0.0208

0.0184

0.0187

0.0183

0.0182

0.0183

0.0185

0.0187

0.0189

0.0195

0.0163

0.0142

0.0135

0.0139

0.0110

0.0266

0.0384

0.0138
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MJ

t-C/GJ

%-C0,

0.0245

0.0247

0.0255

0.0294

0.0254

0.0209

0.0208

0.0184

0.0187

0.0183

0.0182

0.0183

0.0185

0.0187

0.0189

0.0195

0.0163

0.0142

0.0135

0.0139

0.0110

0.0266

0.0384

0.0138
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MJ

t-CO,/GJ

t-Co,

0.0000

0.0000

0.0000

oo |Oo]|O




MJ

t-CO/GJ

%-C0,

0.0000

0.0000

0.0000
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t-CO,/ Wh

%t-Cco,

0.0000

oo

0.0000

0.0000

0.0000

0.0000

ojloj]o]j]o]|lo | O

t-CO,/ Wh

3t-Cco,

0.000000

oad

0.000000

0.000000

0.000000

0.000000
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t-CO2




t-CO2




GJ/t t-C/GJ

t 28.9 0.0245

t 26.6 0.0247

t 27.2 0.0255

t 30.1 0.0294

t 35.6 0.0254

{ 37.3 0.0209

{ 41.9 0.0208

ki 35.3 0.0184

ki 38.2 0.0187

ki 34.6 0.0183

ki 34.1 0.0182

ki 36.7 0.0183

ki 36.7 0.0185

ki 38.2 0.0187

ki 39.1 0.0189

ki 417 0.0195

t 50.2 0.0163

Nm® 44.9 0.0142

t 54.5 0.0135

Nm® 40.9 0.0139
Nm?3 21.1 0.0110
Nm® 3.41 0.0266
Nm’ 8.41 0.0384
Nm® 41.1 0.0138

395
co, LNG
t-C0O,/GJ

0.0907 0.0700 0.0505




